ME 274 - Spring 2024 — 11:30 — Quiz 4

Problem 1

A forward-traveling automobile P has its velocity and acceleration expressed in
terms of a set of polar coordinates of: v = (1Sér —ZOée)m /s and d= (6ée)m/sz,
respectively. From this, it is known that: 2
a) Pisturning left.
b) Pis turning right.
c) Pistraveling on a straight path.

d) More information is needed.

Problem 2
For the velocity and acceleration of P given in Problem 1:
a) Pisincreasing speed. . = v
) | ngsp v=a- L
Ib) P is decreasing speed.| [U/ -
A lseV"ZO
c) Pistraveling at a constant speed. = 6@ . TR

d) More information is needed.

Problem 3
Two bodies, A and B, are connected by a cable-pulley system. The motions of A and

B are represented by the finite distances of s, and s, respectively, and the length

of the inextensible cable is known to be L=3s B +2\/si +h? +constants , Wwhere h =

constant. Let v, and v, be the speeds of A and B, respectively.

a) v,>vp L= Bbe+2Vdawh’ +eonshart
b) v,=v, Al —p=3), + @) Daly
AL = PRI
€) v,<vg /= N
= | = A
d) More information is needed. Ve = [3 s Va



